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INSTRUCTIONS

. Answer all questions.

All questions carry equat marks.
Only one answer is to be given for each quastion.

If more than one answers are marked, it would be
treated as wrong answer.

Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have te darken
only one circle or bubble inditating the correct
answer on the Answer Sheet using BLUE BALL
POINT PEN.

1/3 patt of the mark{s) of each question will b
deducted for each wrong answer. (A wrong
answer means an incorrect answer or mere than

one answers for any question. Leaving all the

relavant circles or bubbles of any guestion blank
will not be considersd as wrong answer.)

The candidate should ensure that Series Code of
the Question Paper Booklet and Answer Sheet must
be same after opening the ervelopes. In case they

are different, a candidate must obtain another

question paper of the same series. Candidate
himself shall be responsible for ensuring this.

Mobile Phone or any other electronic dadgst in the
exarmination hall is strictly prohibited. A candidate
found with any of such objectionable material with
him/her will be strictly dealt as per rules.

Please citrectly fiil your Roll Number in "O.M.R.
Sheet. 5 marks will be deducted for filling wreng or
incompléte Roll Number.

Warning : if a candidate is found copying oq.;'fj'ény

unauthorised material is found.in his/her
possession, FI.R. would be lodged against
himvher in the Police Station and he/she would
“liable to be prosecuted under Section 3 of
the R.PE. (Prevention of Unfairmeans) Act,
1892, Commission may alsc debar him/her
permanently from all future examlnatlons of
the Commission.
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1 .23=

2-3 . 23 o 23 A _%3_
2 Every odd prime number is of the form :
e frew evw den few ww @ e ?
(1) _(417-—1) or / AT (4n-—3)
{2) (4)12—4) or / ™ (4}12«-3)
3y (4n+1) or L@ (4n+3)
(4) (4!1 +l) or / AT (4}32+3}
3 When a number is divided by 136 the remainder is 36. If the same number 1s divided

by 17, then the remainder is :

Eiere: i ns%méﬁm&‘rmmmﬁm%mﬁ:aﬁrmzﬁr 17 § W
¥ W wEA B :

(1) 2 (2) 3 3y 7 4) 9

4 ABC is a triangle with BC =g, CA=4 and £ BCA = 120°. CD is the bisector
of £ BCA n"st:eﬁng AB at D. Then the length of CD is : .

Brgst ABCH BC =a, CA=5b 991 ZBCA=120°. CD, £ BCA N aFF T
AB w D X faaer ¥, eﬁma?rmé%

a+b ab a2+52 02+ab+f3|2

2 @ 7Ty @ SGrs) @ T3(a+b)

(1)

5 In the following figure, 7O is bisector of £ PTR . then 7S =
@ R d 70 £ PTR @ aids &, df 7S =

3) 710 ' 4y Pr

(Iy 5S¢ B A
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6 Three cylinders of equal heights have their circular bases with diameters A, 5. 13 and

1> 1, 13 are the sides of a right-angled triangle with /3 as hypotenuse. If h is the

he:ght of cach.cylinder, then true statement is :

(1)  volume of greatest cylinder is more than the sum of the volume of remammg, two.

(2)  volumc of greatest cylinder is equal to the sum of the volume of rem'umng two.

(3) volume of greatest cylinder is less than'the sum of the Volume of remaining two.

(4) curved area of greatest cylinder is cqual to ﬂlL sum of thc curved areas of
remaining  two.

Wmﬁm@ré‘m%ﬁﬂ‘fﬁaqﬁam%w rl,rz,r'gqﬁ rl,'i'z;r3 TH TE
Brgw @ e ¥ e i ool ¥ R wos dew o SAg 4 ¥ A e wuT %
(1) I8 93 YO B TG, N9 1 Sw=1 < SGaal & I FeT & |
(2) UEY T AT @ WA, ST ST ATl F AETH F A B IO E |

(3) UHH W% Y B G, Y TR IO b GG & AT Y BT ¥ |
(4) TEE TS Ja @ Ahpd &HE, §Y A ST B kb GGl & 9T % gqEL $ |

7 Let A(xl,yl ), B(xz, Yy )_, C(x3,y3‘), -D(x%,yél) be four points such that

Xps X5, X3,%4 and V), Vo, V3. V4 are both in Arithmetical progression. If A denotes
the arca of quadrilateral ABCD, then -

CHq A(xl,yl), B(xz, y2), C(x3,y3), D(x4,y4)_ 9T foig 39 v ¢ 5

X]> X, X3, Xy AT V), Vo, V3. Vg Q0 TATGE do H ¥ 1 AR A "gdE ABCD
& RTHT H WG B & @l '

(b A=0
2) A>1
(3) A<l

(4) A depends on the coordinates of 4, B, C and D /
A, A, B, C 991 D & Toisi X fnft wom

8 The ratio of the sides of two regular polygons is [:2 and their nterior angles are in
' the ratio 3:4. The number of sides in cach polygon are :

amﬁgﬁﬁgﬁmﬁﬁmlz%mﬁwaﬁvﬁwwuﬁ GUlRGED
ajg'ﬂﬁ#gmaﬁ?é’ra@r&%
() 5,10 2y 1o, (3) 6 8 4) 9, 12

9 If ax2+bx+c=0, a#0 then x=

T ax2+bx+c=0, a0 @ x=

—b£b? —ac _b+ b2 + dac

Iy - 2)

20 . 2a
2c . .
(3) e Jb2 ot (4) None of these / % ¥ FE &
34 A| 3 [ Contd...
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10 If A ABC '~ A DEF be such that side 4B = =9,1" cm and side DE=6.5 cm.
If the perimeter of A ABC 1is 35 om, then the penmetcr of A DEF is:
gk A ABC ~ ADFF{HW%%WAB 91@tﬁamgmbz 653 1

% A ABC w1 wiewm 35 ¥ &, a1 A DEF & 9ied g
M 2lem/¥ @ 25am/T (3 28 om/ T @) 30 em/ T

1 i 'n 1s ‘a natural numbcr then

uﬁnwmm%?ﬁ

r=l " .
n .-
> Fll+r)
3 n 3 n+l 3 sa{n+d)
O 375 @ Sha © Wen @ a0

12 If (x~1) and (x+2) are the two factors of (x3 +i10x2+mx+n),

then remaining factor is @ -

o (x3 +10x2 +mx+n) % A rEEsE HE (x—l)ﬁa" (;“",*!2-.) -E’)[’

Gl 9 gumws €mr
) (x+1) @) - (x--z-) () (-'x-+.-9). c @) (w=9)
13 If‘ al’ a2, 03,-7---;----136 terms of Anthmetlc progrcssron and
a+a,+a +a 2 Ja ;
Vet A B0 6 .
S p=£5,1’?,‘1....!hen\.r"_. L ]
a}+(1’2+a3+ .... i aq q L LTI et 21'. O O SR, U
afy a0, Az e 38 & wE
S ajtay+ag ++aP._Ei G G
SN S = z,pv&q._?ﬁ-a .
Qtadgtaz ... +aq q : 2L - e
W % @ % o W @ Y
14 If wis a complex cube root of umty, then T+ w+ w4 419100 =
afs 3P W ‘:‘-Iﬁ%f e Tﬁr w % a‘r l-i-w+wz+...i-_l.__.._+ w00 = -
(1) -w ' @ w7 (3) =1 _ 4 0
34T | F; [Contd...
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15 If a, b, ¢, d are in Harmonic progressmn thcn -

?Jﬁ a, b, c, dm'cﬁ Qa F 'E?f T 1
(1) a+b>c+ d o (2)- C+d >‘__£'I"-|-_‘b' S e
(3) a+C>-b+_a{_ o '--{4) a+d >b+c
16 1241224152 4 +202 = | A
Iy 2485 (2) 2483 G) Bl..... __..(.4): .248,7

17 After simplification, the number of terms in the expansion of (x+a )1 00 ( -a )1 00 is

AT % Tga (x+a)100+(x-a)100 F At F wa @ m@m%

() 202 @) 51 G) 100 @) 50

2 3-211 ' ]
18 In the expansion of (1—-3x+ 3x° —x ) the middle term is :

.(1');'_' (n+1)‘h term . (2) —-(2n+1)”’ ferm

3 (n+1)" Iterfn (4) hf"’ term

(I—3x+3x —Xx ) ﬂ? HFIT( 9( e %

() (n+l)aiw @ (2n+n)at trq’

3 Ge+law 0 @ paw

19 Simuitancous lincar equations 3x —~ y'= 5 and 6x —~ 2 y = 10 have number of solutions is :
(1) only one {2) only two {3) infinite {4) can't find
e ek THETN 3x~p =5 TU 6x-2y =10 % T B FEW ¥ : __
(1) FHad TF (2) %saa & 3) i ) amaé’ranm%r

20 If oo and (B are the roots: o_f- tﬁlf':”équ:gti:br:i" 2x2 -4 Sx-|_-7=0,_thcnthcequatlon

. 1 1 PR N

whose roots are 20-52B—5 ' AS v e

o el 242 - Sx 457 = o%wa@ﬂﬁaa@mﬁmﬁ@

1 1 D _ _ _ .
20-3 3B 3 % B - . B : SR
(1) 14x% —5x+1=0"0 F 0 @) x24Sx+14=0
@) x*-5x+14=0 @  14x%+5x+1=0

L O T PR

21 ZOC +220C +20C 22C18 vRIND S o me e
() 0.- @ 202 ., @ 30 @ e
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How many triangles can be formed by joining 15 points, when 7 of them are on the

22
same straight line ?
15 fagell @& R & e e o md o wd ¥, wals I @ 71%1'—3@5?[%
@ oY Ruq ¥ ° '
ISC3 s .
(H 7(:3 (2) C3+1
@ Poy-Toy+1 @ VBoy-To
23 =4 +3i = - N
(1) i(]-{@')/\/i @ ()2
@) _4(1+31)/V2 @ 23V
| - o 1+ Y .
24  The smallest possible positive number » for which E— =—] is :
B ¥ BRI HAE® qOie #, fes R [1""] =1 % %
—1i
(1 1 @ 2 3) 4 @ 6
x+1 2x 3x
25 (If ax3+bx2+cx+d‘= 2x+3 x+1 x |, then 'd'=
- 2-x 3x+4 Sx~1|
- x+1 2x 3x
ufe ac +bx’ +ex+d=12x+3  x+1 X @q =
2-x 3x+4 5x-1 _
(H =1 2y 1 3) 2. 4y -2
26  If A is a square matrix and K €R, then adj (KA) =
afg 4’ um i AfewE W, W0 K eR W@ adj (KA) =
1y K24 @ K"adjd () K" ladfa4 @) K"adj 4
27 A conc, a hemisphere and a cylinder have same bases and same heights, the ratio among
their volumes is :
TE S, TE o T qel U IO % WO TR 41 @R SeRdl §,
W g6 oAl W SruR ¥
(n 3:2:1 2) 2:3:1 (3) _2:1:3 4 1:2:3
34 A] ' 6 | [ Contd...
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The curved surface of a cylinder is 1000 square cm, and a wire of diameter 4 mm

28
is wound round it, so as to cover it completely. The length of the wirc is :
(1) 25 mcters (2) 230 moters _ (3) 257 meters  {4) 2500 meters
TH d@ F Alhd & 1000 T AW ¥, w9 4 Rl wmw ¥ av B Jow o afea
[dE I TH W) WU W ¥ RF aw I« H ow @, o qn @ was ¥
(1) 25 "Ry (2) 250 Y (3) 257 dHrex.  (4) 2500 #eY
29 Two cones of same vertical anglés have their heights as /1! and A, , then ratio of
their volumes is - _ .
A OB A T oiged @ et fy hy T, @ S oIt w e ¥
N SY, @) Bk
(3) (hlz'tanza):hz () (hf)(h%)
30 An equilateral triangle. of side a is revolved about a line through one of its vertices
and parallel to opposite side. The volume of the solid so formed is
T ‘' o 9 e B B B % ww ofid ¥ e et Y@ s @ g
% AR B, & U@ e onn ¥ L 39 YeR 9 IE @ oEa §
3 3 1_3 3.3
(1} 27a (2) Ta 3¢ Sma @ ™
31 One radian cquals to :
2y | 2 . :
(1) (EJ (2) [— of a right angleJ
e f
(3) [ : of four right a\ngles)O (4 ua
4n \ : 180
wF eTT qUEN § o
2Y 2Y
(1 (—] ' 2) (qaa FHHI a-n—)
b yis
1Y T
(3) 1T GIROT B — : (4)
i 180
32 If 054-[3=m‘2 and B+vy=q, then tana =
e a+B=w/2 qT B+y =0 A tano =
() 2(tanf+tany) (2) tanB+tany
(3) tanB+2tany (4)  2tanP+tany
33 If secH+tan@=m then sin@=
k. secO+tan@=m T sin@=
1 - m? 1+m> 2m 2m
2 : 3 4
W |+ m? @) | —m? ) 14 m* ) 1—m?
34 AT 7 [ Contd...
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| - - . 1 1
34  The general value of Q which satisfies equations : sin@ = =3 and tan@ = —75— is :
’ | | . - .
e sinf=—— qer tan6‘=——J—§ B TG B AT Q B AGH A T
n nt T : T
na+— n+{-1'= (3 = 4 2nm-—
(1) p @ nm+(-1)'Z @) 2mE— @) moo
' - 2 2( :
35- If tan8—cot®=a and sin®@+cosO=24, then (b Hl) (a +4): _
' 2
afy tanO-~cot@=a T sinB+cosB=4, & (bz~1) (a2+4)=
(1 2 O @) @) 4
36 Let Cpand C, be the inscribed and circumscribed circles of a triangle with sides
' areaof C| _
3 cm, 4 cm and 5 c¢m, then m.— |
Al Cp qut €, Redy e, Rredt gend 3 30, 4 0 Gen 5 & ¥, % o qen
y o QEEE
T P E A S
(1) ~4/25 (2) 9/16 (3) 925 (4)  16/25 .
37  The angles of a triangle are in the ratio 4:1: 1, then the ratio of its largest side to »
its perimeter is : |
o R B 4 1 1% egaE A ¥, o 5Eh 9 e U g oftan ¥ Sgon ¥
1 ~1 2 —ﬁ 3 _—ﬁ 4 &
S ® -5 ® 5.5 9 nd
38 If ay, 09,63, .00 @, are in Arithmetic progression whose common difference is d,
n
then Etan_l—fi-—=
il 1+a; a4 o _
R ay, @y, A3, e a, @At 9@ ¥ &, fwer et 4 %,
A ’ e . F .
" d
@ > tan 7 =
Py I+g; aiq
e d
) mtan' —4 () tan” ——
1+a a, : l+ay a,
-1 nd .1 nd
(3) tan ———— (4) tan :
1+a, 14, 1']'al ay
34 A] _ 8 [ Contd...
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39 From the top of a cliff 60 m high; the angle of depression of top and bottom of tower
: B T
are respectively observed. as 5 and 3 the height of tower is :
(1) 40 meter 2) 120 meter  (3) 90 meter () 30 meter

ﬁoﬁa%iﬂ_?qﬂé’l-ﬂ?{ﬂi‘&@rqzsﬁ’l?r{a?f%ﬁé‘rqziaﬁ_%‘s_emwwmsr z

6
T : -
Td 3 Mg R o ¥, o G 3 SaE ¥
(1) 40 dfrx 2) 120 drex
(3) 90 AR - @) 30 Mg
o ; 12+22_+32+ ........ +n2
40 Lct 0= lim 3 and
H—yoo g 0 :
(13—12)+(23 22)+(33 32)+ ........ +(fr3~n2)
B= lim 7 then
H—poa H
12+22+32+ ........ +n2
AT o= lim 3 asn
j =00 b33
3 2 3 2 3 2 2
7 =1 +{2° =251+ 3" =3° |+........ +|\o —#
i BBl )
n—poo n
() o= (2) o<f
(3) 4u-3f=0 . 4) 30-48=0
. d[sin_I & )—
4 If x>1 then - y . 12
1 aN sin™} p: |2
ZI‘PCI x>1 ?ﬁ' b 1+x2
'(i)(z] | ) —[ZJ
14 x? ' _ [+ x?
@ — : @) ( 1 ]
1+x2 R G P
-'34_A] 9 | Contd...
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9%, 0<x<2 Jx, 0=x<1

3

42 Let f(x)=9 , and g(x)=1x then which of the following
x°, 2<£x=<3 E l<x<4
statement is truec ?
Vx |
() gof(x)=—7 for 0sxst @ gof(x)=x for 1<x<2
X2 Y
@) gof (x)="7 for 2<x<3 ) gOf(r)z(EJ for 2<x<4
2%, 0<x<2 Jx, 0<x<l
T f(x)= Fm g(x)=1y @ Preffed & 9
/) {x"-, 2 < x%3 .() % l<x<4
BT BT FA 5 7
X . - ,
(1) _gof ()=, osxs1®R0T @) gof (x)=x, 15x <2 ¥ foC
YZ ¥ 2
() gof{x)==.2<x<3%fm @ gOf(«‘f)=(5] L 2<x<4 Ffa
43  The point P, on the curve y=+/x—2 defincd in the interval [2, 3], where the tangent
is_parallel to the chord joining the end points of the curve. Then the co-ordinates of
point P is : ' : :
9 y=+x-2 srauw [2,3] ¥ ofouf@ ¥ ud we & fog P oo weiten did
Rl F D oWh P.BR W Pram g der & e g, 9 2% e ¥
_9_ 5 - S 1
¢h 2°\o 2) {(2.0) (3) 4’9 @ (3.1
44  The true statcment for the function f (x)=x3+2x2 —1 is :
e (_io) W, [_i_lJ
(1) increasing in | (2) increasing in 3' o
4 o 4
(3)  decreasing in *510 (4)  decreasing in 03‘3—
o f(x)=2 4220 =1 & R wm wew ¥
4 ) . 4 1) .
() |73 0) F adEe @ |37 ® aEE ¥
4 N . AN
(3) —3,0 ¥ TEE B 4) 0»; ¥ gEe ¥ o1
34 A | 1 P [ Contd...
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45 If x2y3 =6 and x,y>0, then minimum value of 3x+4y is :
ax x2)d =6 9 x, y>0 °@ 3x+4y W IGT AH ¥
1 7 2y 10 3 13 @ 14
sin 3x
- , x#0
46 If _f(x)= siny is continupus function, then & =
k , x=0 '
sin 3x 20
R f(x)=<sinx T weg wew B, @ k=
ko, x=0
(1 0 (2) 173 3y I 4y 3
x+1 ~ when x<2
47 If fix)= h '"2)=
/() {Zx—l when x=2’ then £"(2)
(1y: 0 2 1 3y 2 . {(4) docs not exist
Jx+l g ox<2
x| = ! =
RANFAC) [2x-1 =@ x22 @ /) ,
(1) 0 2. 1 (3) 2 @ frmm 9 %
48 If line ax+by+c=0 is a normal to the curve xy=1, then
afe Tar ax+by+c~—0 W xy=1 9T @iqw &, @
(1) ab>0 (2) a,b<0
(B) a>0,6<0 or/A a<0,b>0 (4) abeR
49 [d'da=
at x+1 [
+c B at T+
(N log, a 2y a log?a+¢ (3) +c (4) x-a  +c¢
. sin{x—y)
50 Ifxand p arc acute angles, in radians, of a right angled trignglc, then jm dx =
sin{x—y}
uﬁxaarqumwf%rgaﬁiwﬁaﬁw I & %, A Jsm x+y)d“—
1 cos{x—y R 1 cos(x—y
(1) gﬁ“ 2) -5#“
_ y . sin(x+ y)
I . ' ' 1. .-
(3) ——z-sm(x—y)+c ) 551n(x—y)+(.
34 A] ST [ Contd...
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o —x
51
T j(H-x )\/Tkx
“ ~2 l+x® o (__)_ JE . 1+x”
——S€ec +c 4y e cosec  ——+C
(3? JE ]+x2 | | ( ) ‘JE i l_xz
_1f ]
52 ML I
Jeot 1 Lax
(0 xcot_lnj}-—%log(l+x2)+c (j). xCOt#l%+%l:0g_(1+x2)Jﬁc
-1, 1 2 1 ‘e
In/4 .
de =
53 .-[4 1+‘_sinx-x - _ .
. E o 2 Lo
. a2
| 2 -1 2 2+1) @) 2n(v2-1) @ —
w w(E) @ w2 e 2eE) e
| | i5 |
54 ¥ [-] is the greatest integer function,. then J[xz:ldxz
-
afe [-] e i W%aﬁ j[ ] AR |
SR
BON o B (2) - 3“"\65”?‘ @y 2+\/_ [I;]

| - 2 5 2 .
. . X .
35 The area bounded by the ellipse: -*E(jflf,.b—z-:l and the tangents at the extrcmities of
. a

its minor and major. axes i :..

W (n-i)absq wit @ (R~2) ab sq. wnit '
- (3) (Tc—3) ab -sq, unit. i ', A4 (4 1) .ab sq, umt
o g —2+§i=1 amw%ﬁg@ﬂéaﬁﬁ%sﬁﬁwwaﬁ@@rﬁqﬁ@
%ﬂ'ch‘t'f % . .-.': ‘{‘1. i e ‘,-___-_,-_—.;..;. o
@ (n-1) ab @t wE @y (rV2) b T
& (-3 @) () o T
34, A ' 12 | [ Contd..,
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Let P be the point of intersection of the lines ax+hy~a=0 and by—ay+b=0.

56
A circle with centre (] 0) passes through P. The tangcnt to thIS crrcle at P meets
the ¥-axis at the point (d, 0) then d=
A Y@ by ~a=0 aerr bx — ay+b 0 Esr';rf%ﬁﬁﬂférgf?% | T g Fawe
@5 (1,0) %P%gam% lwqa%ﬁgpwwﬁm g w Ry (d,0)
Wﬁﬁ?ﬁz‘r?ﬁd— I N
) 0 11 . o 2ab
2) - 3 i 4 ™ .3
o @ o @ T
3n rZ
57 iim Z 3 3 =
n—ee T 140
D Slg2 @ ---1"10. 65 @y Yegas o  Liogsz
(1) 3 4 _ (2) 38 (3) .3‘g 4) p) g
' 3w
58 The area bounded by thc curve y—smx xa*cls and the lines x=0 and x-?
in square unit is : ' '
5, y-—smx xﬂ&i'ﬁﬂﬁ@@ﬁ x= oaan x-———-@ffh’(%sraﬁraﬁmﬁm%
10 o @ . e 2 @ 3
59  0{0,0), A8, 0) B(0,4) are three- pomts If P is a moving point such that the area
of APOB is always. tvyu;e of the area of APOA, then locus of P is :
o(o 0), 4(6,0), B(O 4)rv.=h=rf%1§% | Afe P e uft fog 59 W & 5 A POB
@ deea W A POA ﬁsé’ﬁnﬁaéwﬁ a P fag oy ¥
(3) x2+9y2 =9 4 ox?4y?=o- "

60  The equations of the sides of & triangle are x -3y =0,"4x+3y =5 and 3x'-"i-y;—:0.
Then the - stralght line 3x - 4y 0  asses through its : _ .
_"m-(l) ccntrmd "'(2)' ks iffeentre” - (-‘3'-) c1rcumcenter '(4)- o:thocentre

wﬁgm%eﬁ?gmaﬁaamﬁiwr% x=3y=0, 4x+3y 5 g 3x+y 0 g

T @ 3% 4y= OW?W%- R

() *hd .. .0 aﬁf;asa ) trﬂ%ﬁ @r N CY mﬁﬁ ﬁ
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61  The circle x2+y2+4x+22y+c=0 bisccts the circumference of the ¢ircle
x? +y —2x+8y—d= 0. then c+d =
@ x?+y? +4x+22y+c= O o X2+ yl - —2x +8y—d =0 B ufeh Bt wfpRa
wGm B, d c+d= |
(1y 50 - (2) 40 (3 30 ' 4) 25
62 If 'p" and '¢' arc segments of a focal chord of the parabola y2 =ax, then:
fy 'p TwET o' TEWd y =gx & TH9G ST @US B, Al
5 2 T 2bc. N a= 4bc
() 2a=b+c {2y 4da" =bc (3) btc | (4) b+
63  Normal drawn at the points 'y’ and '/’ on the parabola y2 = 4¢ Mects again on
the parabola, then :
weaer y2 =4ax ¥ &g tn e 't2 wd T sfiee g weed W fed 3
I
() %) =—fl'—2/f] (2) ‘(1‘{2 =2 : (3) f-lf-z =-1 {4) ty = r—
. o d
64  If the straight lincs joiming thc ends of the minor axis of an ellipsc to its focus are
perpendicular to each other, then the eccentricity of the ellipse is :
aﬁwﬁ%ﬁwm&%%ﬂﬁmmﬁﬁaﬁwmmﬁ
ot 3*&?!% el §
1 y B
1 P 2 - 3 —= 4 i
(5 ‘5 _ @ 3 CO Y @ =
65 Thc eccentricity of the conjugatc hyperbola to the hyperbola % =3 y2 =1 is :
st x2 ~3y? =1 % "gW dAfEtEgEd & ST §
<4 1
(1 2 (2) ' N3 (3) 4 (4) 3
66 ax+by+c=0, represents a line parallel to y-axis, if :
ac+by+e=0, y-3i8 F TAFGY Vel FHR HC E, A |
() b=0,_aeR (2) b=0,aeRy; 3) a=0,beR 4 a=0, beRy
67  If the sum of the slopes of the lincs represented - by . Ax? +2hxy'_7y2 ={ is cqual
to the product of their slopes, then f =
42+ 2y -7y =0 3 PR el % el @ AN S5 S % ETEN % GO
q,od A= | . -
( -6 @ 4 (3) -2 4 4
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68  The conic represented by x = 2(coss+sin/}, y =5(cost—sint) is :
(1) a crcle (2} a parabola (3) an 'ellipsc (4) an hyperbola
x=2(cos/+sint), y=5{cosr—sins) ¥ Frefa s 3 :
(1) us gu @) T uEmm (3 g (4) T el
69 If any linc makes an angle o, B,y with the coordinate axes then
cos 200+ cos 2 + cos 2y =
afy B e Pd ot % @ o, B, v BT g ¥, @ cos 200+ cos 2B + cos 2y =
) - (2) 1 (3) 2 , 4y 3
70 The sum of the squares of minimum distances of a point p(x, y,z) from coordinate
axes is :
g p(x, p, 2) & Pl ol ¥ g el % ool & O ¥ -
2 2 2
: +
() Xx+¥y+z (2) %——{—
®) [xPey?e? @ 2(x?+y?+2?)
71 The eqﬁzftion of the Iline 't.hr0ugh (],2,3) and parallel to the linc
X-y+2z2=5=0=3x+y+z-6 is
frg (1,2,3) @ oy Al Gh YW1 x— y+22-5=0=3x+ y+z-6 % garag X@r
& TG B '
Lo x-1_y=2 z-3 ' x-1 y-2 z-3
(N} 377 "5 m'y @ 355 T4
x=1_ y-2.z-3 x=1 y-2 z-3
) N3 " 5604 @ 3 5 -4
72 The angle between the lincr-;'__'_F=l(._2;'~}+3f?)-ﬁ_?.,(3;'—}+2fc) and the plane
J_‘-(;:+_}+f;)=3 is :
Xar F —(2:—;+3k)+l(3:—;+2k) Td gHaw 7 (r+]+k) 3,%5 g
H T .
(1) 8=cos_l(4/«/4_2) - 2) ©=sin" (6/_«/5)
- ' .
()  O=tan"'(2/3) @) B=sin (4/\/‘6)
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73 The straight lines —— =7 = —_ and .= =-— z 1ntersect at
o 2 3 4 TE 2
the point : : : -
.. L x=1 y=2 z=3 __ x-4 y-Il
TE @ = T s =‘—y2 =z o wirws &g %

M (1,23 @ &L @)L o (4)-_- (-1, -1, -1)
74  Two straight lines F—El+lgl and 7=ay+Ab, will interseét if |

IR a\_@TQ T —'a1+7t.b1 QEI r—a2+7Lb2 F{Pﬂf@H ?b)(-fh 'C[%

Wy (Bxby)(@-a@)=0 . (bl bz)(az @)= 6'

@) (Bxby)x(@xai)=0 i‘4") (B xbyx(@-a)=0 "
75" “The lin shich lies in the plane 7-(7+27=k)=3 is .5

o 7(i+2) - k)=3 ﬁﬁmﬁﬁﬁﬁ@fﬂ?ﬁ—?ﬁi‘@ﬁﬁﬁ% 7

(N -—I+_}+}.(21-—‘}+4k) . (2) r—r+;+l(2:+;+4k) -

@) F=}+k+},(2f+j+4k') (4) F‘ff+'k+l(2r~—J+4k)

76 If the mean of x| and Xy is M) and of x,Xp,x3,Xy is My, then the mean of

X X.
qre X, X3 @i HIEq M] 4T xl’x2=x3’x-‘l-'. &l 'Mg 'ﬁ, < axy, axy, %’74 Edl
M1+M2 ) GM1+M2/Q'
M= @y T
1 1
(3) > l:(a ——])Ml-}-ZMz} 4) " [2(‘1 "1)M1+M2] :

77 Which of the following is true ?°
i A ¥ @ §d § °
(1) Mecan = 3 Median ~ 2 Mode (2) Median = 3. Mod:c_—: 2"Mez;n
(3) " Mode = 2 Mean — 3 Median (4) Mode _= 3' Median =~ 2 Mean

I

78 24 obscrvatlons are made m a serlcs in which half are equal to '¢' and other half are

equals t0 '—g'. I the standard dewation of the observatlons is 2 then |a | equal to :

24ﬁaﬁﬁ@#ﬁﬁwﬁ~%mﬂ?am§meﬂé a7 IEL E AR
_uﬁaﬂﬁmmﬁﬂmzéﬁ]a\w%— L

: _ - o . 1 . Co ‘JE‘
m.2 @ L SONPS @
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. 84

The probability that a leap year has 53 Sunday or Monday is : .

79
ww S (fa) o ¥ 53 dEr A dwEar oM @ wigwa ¥ oo
nH w7 2 27 B ) BT A 4) 47
- 80 A and B respectively toss a coin two times, then probability of gefting same number
of heads is -
A 9 B %A% U% foEs ® 4 IR I8 ¥, ?ﬁaﬂ%smwmﬁ&mmﬁ
T ¥ - - |
(1y 716 2y 3;’16 _ (3). 3/16 4) 116
81 A pair of dice is thrown. If at lcast one of them shows 5 then probablhty that the
sum of their digits will be 10 or more -
T U w g G W ¥ IR I Y e w9 g S R ¥ Ih ofd
& A 10 W sifkEm o H wiReea ¥ -
(1 /6 (2) 2/9 - (3)  3/11 4y 1/12
82  The mean and variance of a random variable X in the Binomial distribution are 4 and
2 respectively, then the value of P(X =l) IS
e arehsm T X, S fow 927 F ¥, @0 Aven qun g0 A 4T 2 F, @ P(X =1)
W/ OAT T — |
(y /4 2) 118 (3) /16 (4) 1/32
83 For any non-zero vector q -
[(Ei x?)x?+(2i '><}')><jr‘+(c3 x@)x@]_:
e g wRw 4 % T [(Eix?)x?-i—(5><})><}'+(3><k)xk]=
() -a @ -2 = (3 2a 4) 34
If vectors a}+}+£t, ;+b}+§ and }+}+c§(a¢b;ec;tl) arc coplanar,
L e i W |
the l1-a 1-& . 1-c
At aR ai+ j+k, i+bjvk, i+jvrck(azbre=l) wEEE
o1 0l
+ + > ]
@ l—a 1-b 1-¢ 4y
n oo 2 -1 3 1 @ 2
85 If a, b, ¢ are three non coplanar vectors and o _'='?»Ei'+'p.5+y2 then A=
ar E,E,E I GEraET WRT F a9 d=Aa+pb+yc @ A=
[a5c]  [sed]  [3d{] Bzl
O T5az] @ [sea] @ [abe] @ [abe]
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If ;xasza rxb=axb where g and p are two non-zero, non parallel and

86
not perpendicular vectors, then r=
aft rxa=bxa, rxb=axh SE a @ b AYE, G AA SHEEId
§ Ry @, @ r= | |
() a+b Q) a-—b G) axb+a @)  axb+b
87 If axb= c bxc=a and Exc;:b then corrcet statement is
H ;I BE are unit vectors 2) .3, B,Z are mutually perpendicular
3) ab c] =%1] (4) All the abovc
At axb=c, bxc=a T cxa=b @& F@ FE ¥ -
(D a,bc wé a3 (2) a,b,c T TEEA ¥
@) [535];i1 @) SedmE g
88  If the sum of two umit vectors is a unit vector, then the magnitude of their difference
veetor is
afe < e Wikl 1 @ off 3 wRe d, S o |y @ afr wem -
() -0 (2 1 B) 2 @ S
89  The foot of the perpendicular drawn from origin to a planc is (12, -4, —3)._
then the equation of the planc is : '
@ fog ¥ frfl ggw WX oW 9 @ % U % e (12,-4,-3) E
T TAAA BT GBI & _
(1) 12x—-4y-3z=13 (2) 12x-4y-3z+13=0
() 12x—4y-3z=13° (4) 12x-4y-3z=1/13
90  Daily wages of 10 workers in a company are given in Rs, as :
15, 20, 22, 19, la, 10, 17, 18, 13, 20. The standard deviation in Rs. is .
UH B A BH WS I 10 A B SFe da9 s 7 e ¥
15, 20, 22, 19, 16, 10, 17, 18, 13, 20 @1 394 & A-S ferme %
(b)) 3433 (2) -3.435 (3)  3.543 (4) 3.345
91 In the group G={(2, 4, 6, 8); xlo}, the identity cft‘imcnt is
¥E G={(2.4,6.8);x0}, § dwwe owgq ¥
(1 2 2) 4 3) © “4) 8
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92  Number of transpositions for the permutation .
1 23 45 6 7 8 9
p= ,is
2 3 4 51 6 7 9 8
(1 23 456 738 9} ‘ _ _
PPy 3 475 1 6 7 9 g) ¥ VEACH W Few ¥
(1y 2 2) 3
3) 4 4 35
93 If the mapping f :c¢— ¢ such that f(x+iy) =iy, is an endomorphism of
additive group of complex numbers, the kerncl of f is:
(1) Complex numbers with non zero imaginary part.
{(2) Set of real numbers.
(3) Purcly imaginary numbers.
(4) None of these. ;
afs afafmor ficc W IR E TR f(o+iy) = iy, whtns demed & aifve o
H orgEnar ®, @ /B el ¥ o :
(1) /HAya. I 9F G ARy e |
(2) <rdfas gEen & ggead |
(3) & FaFE GEEn |
(4) T § b5 @ |
94 If H is a subgroup of G and & is a normal subgroup of G, then FH ~ N is a normal
subgroup of : ]
Iy G Q) H
3) N (4) H and N
afy H, G %1 S99 % & Q&1 N, G & TGP SI9E &, of H AN TeH= SUEE #
() G =r (2) H @
3 N® 4) Ha NTHE &
95  The identity clement of the quotient group G/H is :
forr v G/H 1 g s F9Ed §
(1) e . 2) G
3y H @ 1
. C ol - du o
96 If w=sin" (x/y)+ tan (y/x). then the value of x—+ y—.is :
_ ox 7 dy
- . dir  du ‘ .
afs w=sin" (x/y) +tan" (¥/X), T x—+ y— @ AA & :
dx 7 dy
. L
1 o @ W
(3) u (4) 2u
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© 99

& u 9%u 2% _ _ _ L
If r=—pr,35= and /=-——, then the point (@ &) is maxima of a function

97 ,
ax? dxdy a?
u=f(x,y) if at (a b) :
9% O%u
aRk r =z, 5= aerrf_—?i‘rﬁg(a b)w::—f(xy)fﬁrﬁfﬁmm
x dxay >
af& (@ b W -
) (t-s)<0,r<0 Q) (rt-5%)>0,r<0
3) (r.t—sz)‘_>!.p, r>0 4) (rt—sz) <0,r>0
73
98 The value of T(—E), s
16 16
[— T —_— s oo .
O Jn ® NEING) | (4). does rot exist
F(—zj ® AE ¥
2 : _
1 E\/E 2 | 10 Jn 3 4y faer w0 ¥
{1) 105 (2) 105 (3) oo (4)
2
The number of asymptotes of the curve y=¢ = +1, is
(1} - Asymptote does not exists 2y 1
(3) - Infimite asymptotes 4y 2
2
am p=e v +1 F oFTomiEl B g ¥
() sm=edt dewa T8 % @ 1
(3) ¥ srTaRast @ 2
: : : : 3 . . . 3
100 If the function f(x) = x(x—2) is continuous in |:0, E:I and differentiable in [0, E]
then the value ¢’ of the mean value theorem, is :
Rl J(x) =x(x-2) 61'_cITIT'T|:0 E]frﬂaaaan[ }ﬁmwﬂu% ql
HeEA VY b of W A €
» N Ub ey |/
DI @) |5 G 3 @’ g
101 In real number system the mter_sectlon of an infinite collection of open scts is :
(1) definitely an open set (2) always-a closed set
(3) not necessarily open set (4)  an infinite set
Jrtes wer trea § Rgw Wl & oa d9% @ watis §
() fofmd w7 & oo fage o 2) 99 0% @YW =
(3) Togo g o oEed G (4)  UE o WY
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102 If sequences @, and &, both converges to / and if @, <c,<b,, V.n and ¢ is a
_ constant. then the sequence ¢, converges to : '

. !,
M I+c (2) I-c G ! @ 7

e oI a, duT b, & /[ 9X orfga ekt ¥ 9w AR g, <c,< b,V T
c TF FET 3, 9 APHA c,  oaga qm
' i

() I+e w @ [-c® (3 W (@ =T

103 If fis a real valued bounded function defined on [a, b] ant'i“.p, p'e P[a, b] such

that p' is refinement of p, then on introduction of a mew point of division :
(1) decreases the lower Darboux sum.

(2) increases the lower Darboux sum.

(3) increases the upper Darboux sum.

(4) upper and lower Darboux sum remains thc samc.

akk 7, [a,b] WWWMWW%H&T p,p'eP[a,b] EGIREIR
¥ R p, p oo st (aftsmgm) ¥, o w1 R feg % abatag e 9 9
(1) frm= s{ 9/ ¥ g8 0 | 2) T = @ F ghg @el

(3) o0 od am # ghg @ 1 (4) Suh qar e osd @ @€l G

) -1 3 ) A Ny
104 [SeriesdZ=_2Z| L3 3| L[ _2| L i
121 2 2 34 3

(1) Convergent (2) Divergent
(3) Oscillatory finitely (4)  Oscillatory infinitely
-1 -2 -3
2 3 4
é\'ﬂﬁ 2_._.._2_ + 3__1 -+ 4__i 4 e y % '
12 1 2 2 3% 3 :
(1) g () omErh
(3) ufitf SemEH ' (4) i . S
o0 H
105 The interval in which the series of functions 2 T converges uniformly ?
n+

n=1

%mﬁiﬂﬁmaﬁwz‘—f—waﬁr@aﬁ%%

1+ 1
n=]

| | , [ 1
M [-Ly] - @ [o1] 3) [-2.0] (@) [_E’E]
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106 Which of the following statement is true for the vector f(¢) having only the direction .

as constant ?

e ?(;)%ﬂﬂ?{%ﬁﬁrﬁaﬂw%ésﬁfqﬁﬂﬁ%aﬁ?—wmm

qaa e 7
> a’f? d;_“) = d!:) = d°1:}
= dF = ‘ g “F
1 2 =0 2 ¥ X ———- = 3 F.—=0 {4 F - =3
() 7 (2) Fx " 0 (3 ar @ P
107 If @ is a constant vector, then which of the following statement is wrong 7
o 4 uw oy aRyE W R ¥ ¥ @ wuT o ¥ 7
- ' - -
(y a.v=v.a ) V.-a=0
G) Vxa=0 @) diveul a=og
= 2, . -2,
108 If 4 =x“yi — 2xzj + 2yzk , then curlcurl 4, is -
- -
afs 4 =x2yi—2xzj+2yzk, df curicurl A &AM ¥ :
(0 2x+l)j 2y 2(x+1)Jj
3)  Cx+Dk ) 2(x-1J
109 If ¢ is a scalar point function, then j ﬁq)ds, is equal to -
hy
ot ¢ efgw fag waw ¥, __[;?q;ds, T T
5
1y Vo | @ [ Vods
@), [ Vo | @ 0
110  Statement of Stoke's theorem is :
@ YT B B © -
= ) _—? - ) - Fa3
13 JF-dr:j(rr-V}‘)ds 2) JF-dr=nJVF—naﬁs
v g . 5 5
= A = -2 . ' -
@ [F-dr=[h|VxFlds @ [F hds=[VFav
¢ 5 3 v
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Solution of the differcatial cquation

x logx i +y=2logx is -
dx ’
HTHA FHIHTOT
dy
xlogx =+ y=2logx & &@ ¥ :
dx
(hy r=logx+ec 2) ye' =xlogx+e¢
() y=x("+clogx) ) ylogx = (logx)* + ¢
- d d:
112 If geometrically the equation ?x = 5}’ = ]—j where £, and R are functions of x,
» zi represents a system of curves, then at any point (x. ) z) of the system the P
@ and R rcpresents ;
(1) direction ratios of normal (2} direction ratios of tangent
(3) -dircction ratios of binormal {4) None of thesc
aft =l v & welieo %=f)—y=%, Gt PO, RETT % v 1 2 &) T®
a e # Pref wxar ¥, @ Fem & D g o p 2) W R Q qar R Pl
EIG RS
() o % s (2) @l & fesmergaE
(3) Suivers % Rsmsruma 4) T I &g T
113 Soiution of differential equation y—2.\‘p+ayp2 =0. 15 ;
sama alewr y—-2xp+ayp’ =0 wr owa ¥
| ;
(1) )c2=5y+—ac2 (2) x‘?‘zcy—lac2
4 4
]
(3) y2 =Cx = 5 ac? 4y y=2cx+ ac®
114 Part of complementary function for the differential equation
2 3
. 3. d ¥V d}/ 2y .
l—x)—=—+x=%+ —py=x{1—-x°)? :
'( )dxz dx'y < 2, is
HFHRA  FHIHTIT
d* dy 5.3
(]—xz)u—?y+x~)~—-y=x(1~x2)2 % & AT H AT ¥
axs dx
1y y=e @ y=e* @ y=x (4) y=x
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Singular solution of the differential equation-

115
J’2 2Px}’+P2 : (02P2+b?)=0,'wherc. ?Ed—y, is
STaHd mﬂmw
. . d
y2—2pxy+p2x2—(a2p2+b2}:0, et pE}{; o fafem =@ ¥
2 2
2.2 ' Xy
(1) a*x +b =1. , Q) —S+=5=1
P
2.2 _a2 | 2 2 232
@) XY =g @y -x‘+y* =a’b
116 Two forces P-and O acting on a particle and the angle between them is {90—o).
The angle between their resultant and the force P is given by -
wF F 9T FEE & s@l P g O F WA Fm (90-o) ¥ tsﬂﬁsq&trmfﬁam
SO P % WA F RO ¥
_1{ QOsinc _il Qcoso
1) tan S — 2t N GRS
W ! (P—Qcosoc) _ S [P—Qsinon}
3) ran~! Osing. - @ tan=) Qcosa
' P+Qcost : A\ P+Qsino }
117 A force F represented in magmtude and dlrectlon by AB then the moment of it
about a pomt O (not lying in the line AB) is gwen by :
(1) Area of AOAB
(2) 2 (Area of AOAR)
(3) 3 (Area of AOAB)
(4) There is no relation between area and moment
o g [ ofon qer Rew ¥ 4B %uﬂhﬁm%ﬁwﬁgo
& 4B i@ﬁﬁﬂﬁﬂﬁ%}%mﬁam@mﬁm%
(1) AOAB &1 &3%d
(2) 2 (AOAB @ BTG )
(3) 3 (AOAB & &3wd) .
(4) %mawm@%qwﬁwaaﬁﬁm%
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118 A man carrics a bundal at the end (B) of a stick which is placed over his SI]OL‘lldCI“
{S) as shown in the following figure. If the distance between his hand (H) and his
shoulder increases, then the pressure on his shoulder :

ﬁw&mﬁaaﬂuaﬁﬂqmmﬁﬁmasﬁ(S)wr@mm%f@%(&ww
Tl () TEar ¥ | afX wEe ww (H) T HY ¥ wem gl wed sny, @ Sa

Y I T -
3 B
7 w
P
(1)  decreases / & w1 AN (2} incrcases/ # ghg =W

(3) remains same / F& T (4) None of these / T9 & PIg =&

119 1 the laws of motion of a particle moving in a straight line is given by s= 5 B,

then its acceleration is

(1) / constant @ f 3¢) o4 @ 5

ﬁf&' I @ ® wfgshier ®wor @1 iy & o S=%1‘}t ¥ fear e ¥, @ sg@r
T B

(1) e @ A Gy O @ =

120 A paricic of mass m is projected from a fixed point into the air with velocity u. in
a direction making an angle ¢ with the horizontal. During the motion the horizontal
component of velocity :

{1} ~increases

{2) decreases

(3) remains constant

(4) increases upto half time of the motion and then decreases

wmmzﬁrmwﬁﬁﬂﬁﬁg%wﬁ%ﬁ%maaﬁwmﬂ
u AT § vaARE frar o & :ﬁ%ﬁ?ﬁﬁwzﬁraﬁmm

(1) w@E

(2) wear ¥

(3) -orEt wEwm ¥

(4) - g & oY T qF qewr § qur feY weaw ¥
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121 Optimize Z = 2x, — 10x,
St X — X2 =0
X] - 5.’(2 <=5
and x 20,x,20;
From this L.P.P. we can find the valuc of Z as :
(1) only minmum (2) only maximum
(3) both minimum and maximuss (4)  None of these
gead Z = 2x —10x,
St X — Y3 =0
X — 5)(2 <=5
aar X > 0, X9 > 0.,
zg Y WO GIET § Z B WH WK FRAT ST §ha.®
(1) oo TS (2) haw St
(3) T qum stase <M (4) T ¥ B Tl
122 Which of the following set is not a convex set 7
fry ¥ H-W gYoIe FOW 9 Ed T 8 7
. 2 2 2
o Jepissdaist o {cnlyisx
(3) {(x, y) | ¥t y? Sl} (4) {(x, ) 3x% +2y° 56}
123 For the system of equations
X+y+2z=12
3x+5y+8z =50 and x, y,z20:
the basic solutions are (a) x=3, y=7,z=0, (b) x=0, ¥y=2, =5
(¢) x==2, v=0, z=7. Which onc of these is not a feasible solution ?
FiieRTr Fresr _
x+y+2z=12
3x+5y+8z=50 @M x, y,:z20;
¥ fro omemll '@ (@) x=5, y=7,2=0, (b) x=0, y=2,z=5
© x=-2, y=0,z=7 %1398 ¥ HE-—a gamg g & ¥ 7
Yy (a) (2) (b) (3) (¢ 4y All of the above/
Tugaa Tl
124 If for a L..P. the basis matrix B contains a non-zero artificial vector and the condition
of optimality holds good then for the problem - '
(1)  only one feasible solution exists.  (2)  feasible solution docs not L\ISCS
(3}  at least one feasible solution cxists, (4)  Nonc of these
ofy fedi YRaw dums T ¥oenadl dfgaw B A erspa pEm wfker feem & Gen
TEHdl i 9| AT dge A, Ot TR @ -
(1) o UE GETT 5 W B0 | (2) W%ﬁﬂm’qﬁﬂé}f?ﬁﬂ |
G) TAY T gEE B (4) T T IR W
feme g 1
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In a transportation problem of m origin and # places of demand, the number of vacant

, 125
cells in the casc of optimal solution, is :
m@mamnvmaﬁwﬁa?rqﬁﬂwmﬁwwa%ﬁuﬁrﬁﬂaﬁaﬁﬁzmeﬁ
w T o
(1Y m+n-1 (2) m+n (3)  »wmn 4 m-D k-1
126 If the third divided difference can be written as the quaticat of two determmants then
the order of the determinants, is
'uﬁ:?ﬁﬁ&mmwaﬁﬁmﬁﬁmﬁﬁiw%mﬁﬁﬂ@mﬂ%ﬁﬁrmaﬁ
W FTE
() 4 (2 3 (3) 2 @) 3
127 The convergence of which of the following method is sensitive to starting valug ?
" (I} * False Position method (2) Gauss Seidal method
(3) Newton-Raphson method (4) All of these
Pt & & Rew fufy e eiftmeor wrfvs 99 % fae s & ¢
(1) Tyom fafy ffy (2) Tie-fosw fuiy
(3) “gzA-ITwEw {4y 4) wugm ol
128 From the following, the parabolic formula is :
(1) . Trapezoidal rule ' (2) Weddle's rule
(3) Simpson's thres eighth rule (4) Simpson's onc third rule
= # @ Waakm gy ¥
() eigsw fram 2) <= FEw
(3) femew 318 fram @ feweT i3 fem
129 Particular integral of the diffcrence equation Vawl —3Y, =1, is :
IR FHET ) — 3y, =0, W Al B %
n+l n+1 | 3 ool 4 71
DA N @ 3%7 6 Sy @ 373
130 General solution of difference equation #ryyp ~ Trtoy; + 120, = 0.7 s
TR WHE 11, — Tity) + 120, = 0; % =0F gl &
(), =dex + 3eyx Q) w,=cxt+ czx3
B3)  u,=¢4d" +c,3" (4)  Nouc of these / 377 d HIE &
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131 Which of the foliowing statement is wrong ?
(1)  Evaluation helps in developing more effective curricula.
(2) Evalvation is objective centercd.
(3) Evaluation provides more intelfigent guidance in teacher - learning process.
(4)  Evaluation approach is only subject-centered.
i ¥ ¥ B wo/faee Tew € 7
(Iy it wardt e Pt w0 § A HE ¥
() watE 339 Hiwd B ¥
(3) e Raer-aifer whear ¥ difgw Antee W B ¥
() u@qﬁﬁaﬁuﬁﬁmﬁ%ﬁmwﬁ%ﬁﬁméﬁ%l
132 Which of the following sequences is right for development of
mathematical concept ?
(1)  Generalization, Abstraction and Perception
(2)  Gencrakization, Pereeption and Abstraction
{3) Perception, Abstraction and Generalization
(4)  Perception, Generalization and Abstraction
itr % s R % R P ¥ ¥ #-ar B SugE § 7
(1) ST, St el quT e '
(2) WG, GG Tl SRfm
(3) /| wEiETeT, SRiETor Jo WISl
4y aHTeT, I Ul SRS
133 What will vou do when your teaching methods arc ineffective ?
* (1) Retcach the material by modifying teaching-lcaming stratcgies.
(2)  Go over the material slowly and slowly which we arc to tcach.
(3) -~ Hold special classes for covering that material again.
(4) Ask students to learn by heart the matcrial covered and wait for better
understanding in higher classes.
s S R -fafy T e A T ¥ T e W B 7
(1 ﬁwwﬁrm—-mwﬁqﬂaﬁ?mgﬁzqﬁi
(2) o fwmag w ARG geEd, @ e e §
3 wﬁmﬂqﬂmﬁ%%ﬁﬁ:ﬁwmﬁaﬁmm@mml
(4) i & e Ro ol R ger & 7 S0 79 ¥ € g of aifees ww o o
S B HeT Bl L B i
134  Which of the following methods facilitates the development of thinking and rcasoning
powers of the students in mathematics ?
(1) Lecture method (2) Problem-solving method
(3} Deductive method (4)  Synthctic method '
it F T Ao G w6 EEe @ e B & e d Y @ R e
wEEE T 7 :
(1) aream Tty @) -y iy
(3) Prew faiy (4) dyemor &ty
135 Teaching and learning by analytical method is in accordance with the learning theory of -
(1) Thomadike (2) Kolher (3) Bruner 4y Gagne
Frgerar faf & faraor qur ST yem s e ¥ ¥ Read et freea B aen ® ?
(1) drfsEe & (2) @l & By TRF @) T
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136 Which is the proper sequence for psycho-motor domain under the classification of

cducational objectives ?

([} Receiving, Responsing, Valucing, Conccptmhsat:on Organisation and
Characterisation.

(2)  Stimulus, Implimentation, Controlling, Adjusting, Naturalisation and
Habit-formation.

(3)  Stimulus, Imphmentatton Adjusting, Controlling, Naturalisation and
Habit-formation.

(4) Receiving, Responsing, Valueing, Orgamsatlon Conccptualisation and
Characterisation.

. v S3va & Tilerc & oid ReareTe ud @ @ B w7
(1) emrgvr, SR, ST, WO, dawas Td aiee-fmio
(2) <RIR, B B, FES, gEEsE, @R gyl Seg--ar
(3) B, B B, THESH, R, @arEsTr gar aned - et
(4)  SMIEOT, HLHAT, ST, FRANA, Al qar S

137 If a test is applied on a group by twice or thrice and the marks of students arc the same.
then which property is inbuilt in it ?
(1) Objectivity (2) Reliability (3) Discriminaty (4) Validity
AR TF wlieeT H UF T 9 A a1 9% IR i Rhar s gur = 9R g5 ¥ weil
% ot A Tfyaaar @, o sed S Radwar MR ¥ 7
(1) axgfrssan (2) favawimar (3) Tavicasliean (4)  FEen

138 The mathematical knowledge which has led to the basis of computer -

(1)  Binary system of number (2) Graphs

(3)  Simultancous equation (4}  Set theary
% TG T S ST 5 W ST & -

(1) < fEger oEr 92 (2) uwEd

(3) gmuq (f&mR) T (4) "I femrg

139 One can appreciate the beauty of the mathematics by -
(1) rcading the literaturc of mathematics. '
(2) looking at the portraits of great mathesnaticians.
(3)  listening to lectures on mathematics,
(4) solving mathematical puzzels and riddles.

qE, S MO S WD Hi- WIET B & —
(1) v aifeer TewT (2) e TR & T dwet)
(3) TV WX HISOT G| (4) TR bt Jeferdl e ST TR B g wK|

140 If a student shows below average performance in mathematics-test, then 2 teacher shouid -
(1) guidc him not to waste his time in studying mathematics.
(2) givc him diagnotic test to find his learning difficultics.
(3)  encourage him to by heart the examples and their solutions of the problems.
(4) call the parents to discuss the difficulties.
e iy framdl @ g ¥ suafa ofww ¥ B9 ¥, A0 oeaNs @ B wiEd -
() nﬁm%amﬁmmwwmﬁ#m%ﬁ
) fermedi = aft Tl Sfemmat @ gar w ¥g FeETeEE aleer 00
(3) ol & R SaETl @ e v % R wRe BO0

(4) HioaEAl & AN F AT B AR
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The most appropriate purposc of using over-head projector in the class is -

141
(1) to lighten the burden of the teacher.
{(2) to increase the burden of the teacher but to motivate the students.
(3) to make teaching intcresting for the teacher. '
{4) to make teaching-lcarning situation nore effective.
ST s ToreT B war A TET B BT I3 §
(1) oeaNE % & &b W A G o)
(2) am%m&smﬁqﬁgmﬁr%ﬁ%iﬁﬁfﬂaﬁﬁﬁﬁm%l
(3) oeATw % Ry e @ wRe g
@y  Tyeror-sier wlea & ot sifte v s
142 “"Mathematics is a scicnce where nccessary conclusions arc deducted".
Which mathematician stated the above statement ?
(1) Rozar Beckan (2) Lock
(3) Benzamin Porrik (4) Bertend-Rassel
carforg T8 TreT ¥, For emayaes s Fra w9 ¥ s Foe frg it 3 Rk ?
(1) IeIT g8 5 () wiw
(3) AT O A @) wevs W A
143 "There can be no ('scllool-subjcct) discipiine which has no relationship with mathematics",
Which of the following is most appropriate to the above statement 7
(I)  Only science disciplines have high positive rclationship with mathematics.
(2) There will be very few persons for studying it.
(3) All disciplinc have closc relationship with mathematics.
(4) Mathematics can progress rightly becausc of other subjccts.
i B e T TE %, e R % g Ry el 1
R ¥ § Ba Ried Sudad wuw & Tl g it g ¥ 7
(1) fad R % Rl w1 RE % G gel SR T 8
2) B ¥ O THE FEET FW B _
() = fawar % @ i w Fewe @ wEy ¥
@) i @ ot gue e A & e oRe ¥ 8w gl
144 Which is the technigue of mathematics tcaching where the students check their answer
immedictly °?
(1) Team teaching (2) Oral-work
(3} Superwised-study (4)  Programmed-instruction .
nﬁmﬁmﬁ@ﬁw—ﬁaﬁﬁﬁ%ﬁﬁﬁmaﬁmwaﬁaﬁmmﬁ%% ?
(1) = Rrewr Q) wAfes—ar
(3) PRt  (4) ofmelE-eTIRed
145 Which should be assumed as a necessary part of citizenship and effective life of education ?
(1)  Oral-mathematics (2)  Written-mathematics
(3) Dnll ' (4)  Assignment :
i qoT SrEaget shew @ e @ U eavas of R wen S e ?
(1) figs TR H (2) ToRaq nferg =t
(3) wa™ B . @) TSRt @B
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146 Who proposed the superwised-study to develop the reading habits in the students ?

(1)  Jems Le Hollend {2) ~ De Ji’ Marwill John -
(3) H. C. Morrison (4) - B. F. Skinner '

ARl A e & aeal & R % R vlRfre-sremes @ gene Ree R 2
(1) o= . gwvs (2) <o AR i

(3) wa A arfes @ 4w Re

147 The most effective way of helping the slow-learner in mathematics is -
(1} holding frequent test.
(2)  conducting special classes for them.
{3)  purting them all in a separatc section.
{(4)  involving thent systematically in concrete, meaningful picee of work that will make
them success.

g § 7 sfiwal el @ 7ee B @ v wher -

(1) e da (2w) faar s

(2) U @eH & wd a9 FemeT & wwerwew € o

(3) 9 iR W W wEn § T@r 9|

(4) ghafag Hiyas erfget nfwim sat & wm o frad == gwear ofye @ @%)

148 Who was the first introducer of !csson-plan ?

(1) = Gestalt - Psychology (2)  Industrial - Psychology
(3} Educational - Psychology (4)  Clinical - Psychology
I8 AR F ST feed gem ¥ ¢

() Rwe Tt @) e e d
(3) [irew TqmnT 9@ (4) BT AT &

149 Which pupil will be said to have the understanding of a "Cube and cuboid” ?
(1) Whe can define cach word by word.
(2) Whao ean teil the points of similaritics and dissimilaritics of both.
(3)  Who can define and also draw the figurc of cach.
(4)  Who can seeing the figure of a cube and a cuboid immediately recalls.

HIA-—T (Gl wedr T 6 9 aq qur uere! @ oredy (TWE) Twdr ¥ 7
(1) ST 377 @ 61877 Ul & Qi € 9% |

(2) St < @) FAT GO ST % frgen @l SoT e |

(3y = o qar s @ R dig 96|

@) W T qar e % RO A e g TR &Y w9 |

150 In mathcematics - laboratory the proportional - divider is used -
) (1)  to measure the length of segment of fine. '
+(2) to merease or decrease the mathematical figurcs.
(3) to measurc the angles.
(4)  to mecasure the angular-distance.

T o TEmYET ¥ WoRyeE-ReaEet B SIaRT fEar St ¥ -
() Yo & ol aaw X1 (2) i erglat @ Bl @ gst v R
(3) @l & W 7| (4) AT T A A
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